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1. Student and his specialty
Text: Where does the word “automobile”
come from? Action.Teamwork.

2. Electric power
Text: The electric. Action. Training

3. Transport logistics
Text: The engine. Comparison. Limits.

4. Transport engineering (equipment)

Equipment.

Text: Spark-Ignition engine. Comparison.

5. Criteria of goods delivery
Text: The diesel engine. Processes.
Manufacturing.

6. Business trip
Text: Clutch. Procedures. Directions.

7. Radio and electrical engineering
Text: Gearbox.

8. Economics of transport
Texts: Light truck fuel economy.
Measurement. Sports data.

9. Business documentation
Texts: CV. Work. New job.

10. Automation and transport control
Text: Heavy vehicle suspension control.

11. Transport system
Text: Driver, vehicle, and wad.

12. My future plans
Texts: Vehicle safety. Innovation.
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13. Kazakhstan and world economic

environment 6
Text: Vehicles air conditioning and

environment. Innovation.Vehicle safety.

UTOIO: 10 80

ATTecTanus CTyACHTOB, 00YJaIOMUXCs TI0 TPAAUITMOHHON 3a09HOM (hopme
oOyueHus1, MPOU3BOAUTCS OJIMH Pa3 10 K3aMEeHa BO BPEMs CECCHH.

TeMaTHKa KOHTPOJIBLHBIX PadoT

1. Jlexcuka: mpodeccruoHambHas JeKCUKa ¥ TEPMUHOJIOTHS;

2. I'pammatuka: Continuous Tenses; Perfect Tenses; Phrasal verbs; Passive;
Compounds of some, any, no, every; Modal Verbs; Conditionals; Wish and if only;
Reported speech; Relative clauses; Conjunctions.

3.UrteHne TeKCTa B paMKax CIEHHAIBHOCTH.

4. IMucemo: Writing a CV.
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Bapl/laHTbI 3anaHm7i AJISl BBIIMMOJIHEHUSI KOHTPOJIBHBIX paﬁoT

Part 1. Vocabulary and grammar

I. One word in each sentence is incorrect. Correct the word.

1. Compression is when two objects slide in the opposite direction.

2. Torsion is when something is pulled apart or stretched.

3. A column is a horizontal structure which spans a room.

4. A damper is a device which holds a structure together.

5. The person doesn’t get a shock because he touches a live wire in the non-earthed
system.

I1. Complete the table.

Noun Adjective
person | equipment | college
subject

engineer | engine 1
2 electrical
mechanic |3 mechanics | mechanical
technician 4
5 technology

I11. Match the words with their definitions.

1.cruising a) pushes the plane upwards
2. drag b) pulls the plane backwards



3. gravity c) pulls the plane downwards
4.idling  d) moving at a steady speed
5. lift e) not moving

IVV. Complete the sentences with the words in the box.

| diameter  height  thickness  weight  width |

1. You measure the of a person or thing in kilos.

2. 'You measure the of a person or thing in metres.

3. You measure the of a circle from one side through the centre to the
other side.

4. You can measure the of a river with a waterproof tape measure.

5. You can measure the of the wall with this gauge.

V. Complete the second sentence to mean the same as the first.

1. It’s similar in appearance to an ocean liner.
It

2. It’s shaped like a dome.

It’s

3. It’s an S-shaped pipe.

The pipe is
4. It’s square shaped.

It’s .

5. The building is in the shape of a triangle.
It’s

V1. Underline the correct word in these sentences.
1. It’s dark. It must/may be six o’clock by now.

2. I can’t find my mobile phone. I must/may have left it at home or at work. I’'m
not sure.

3. I’ve got paint on my jacket. They must/could have just painted the door.
4. You could/must have disconnected the cable, but I’m not certain.

5. We have no electricity. It could be/could have been a problem with the
electrical circuit. Will you check it?

VI11. Complete the text using the active or passive form in the past or present of
the verbs in brackets.

1. In the 19" century, children as well as adults, to work down the
mines. (send)



2. In the past, children carts filled with coal from the coal face to the
main road. (pull)

3. Nowadays, the coal on conveyer belts from the coal face to a
preparation plant. (put)

4. In the past, canary birds to detect poisonous gases in mines. (use)

5. Nowadays, electronic detectors miners about poisonous gases. (warn)

VI11. Correct the sentences.

1. The aim of the test is for checking the tension forces on the neck of the dummy.
2. A strain gauge is used for to measure the deformation of the bridge.

3. Sensors are located in parts of the robot’s body, that is in its chest.

4. The odometer can measure how far can | travel.

5. The purpose of the test is to discover does the material break when it is pulled
apart.

Part 2. Reading and writing
Reading
Read the text and complete the form below.

One solution to the problem of the world energy crisis and the need to reduce
carbon emissions is tidal wave power. This is a system for converting the energy
from seawater which is moved inland with the tides into electrical power. Marrow
river estuaries, where the tide flows in from the sea, have the fastest and most
powerful movements of water, and have big tidal ranges which are needed to
convert the energy into electricity.

One way to convert tidal energy into electricity is by building barrages. These are
long, concrete walls which stretch across the width of a river, like a dam. As the
tide rises the seawater flows into the river estuary. At the same time, sluices or
valves, which control the flow of water, open. These allow the seawater to flow
through the barrage. The water then is held behind the barrage until the tide falls.
When the tide falls, the seawater flows out again. As it flows out, the water drives
the turbines. These rotate and create electricity.

Tidal energy is a clean, renewable power that doesn’t produce any carbon dioxide.
However, only about 20 places in the world have the big tidal ranges which can
convert the energy into electricity. Barrages are also expensive to build and
environmental groups believe they will damage the wildlife and plants of the area.



Problem Need to solve world energy
crisis, and reduce carbon
emissions

Solution

Location

Operation

Advantages

Disadvantages

Writing

In your notebooks, explain this process using the passive and the words/phrases
in the box.

finally  first next now
then

How to check and add brake fluid in a car

1. Open the bonnet and locate the brake master cylinder.

It’s at the back of the engine.

2. Clean the top of the cap to stop any dirt from entering the cylinder.
3. Pull off the cap and check fluid level.

4. Add brake fluid up to the line marked “full’.

5. Put the cap back on, tighten it and close the bonnet.

IIPUMEYAHHUA: TllpaBnjia KOAUPOBAHUS BAPMAHTOB 3aJaHUH 1151
KOHTPOJIbHBIX Pad0T M KYPCOBBIX NMPOEKTOB (PadoT) 1 peKOMEHAAUNH JIJIS
CTYAEHTOB 110 UX BbIOOPY

Kontponbnbie padoTs! o aucturuinae «lIpodeccrnonansho-
OpPHUEHTHUPOBAHHBIA HHOCTPAHHBIN S3BIK» MPEJIaraloTCs B MATH BapHaHTaX.

Bawm crienyet BoIOpaTh OJIMH U3 MATH NMPEJIOKEHHBIX BAPUAHTOB B
COOTBETCTBHH C MOCIETHUMH IUPpaMu mudpa cTyIeHIeCKoro ouiera (CM.
3a4eTHYI0 KHIKKY). Ecnn mmdp 3akanunBaetcs Ha 1iudpy | win 2 — BHITOTHIETCS
Bapuant Nel, ecu Ha ndpy 3 unu 4 — Bapuant Ne2; na 5 wim 6 — Bapuant Ne3;
Ha 7 win 8 — Bapuant Ne4; Ha 9unu 0 — BapuanT Ne5.



